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Section A Short Questions Question 1 Definitions

Match column A with column B. Do this by using the grid after this table. Write the letter from
the definition column B next to the matching term in column A. There are more definitions

Column A - Terms Column B - Definition
1.1 Proxy server _|A"Make use of computing services like storage,
databases, software, networking etc over the Internet.
1.2 Radio-Wave transmission | B<A tiny portable computer chip which holds
information and allows you to connect with your
network. This means you can make calls, send SMS
messages, and connect to mobile internet services.
1.3 Web browser €A standard that provides a unique number for
every character, no matter what operating system,
application, or language. See addendum A
1.4 Spyware | D7 Software that is installed in a computer or mobile
device without the user's knowledge and that
transmits information about the user's activities.
1.5 Cloud computing _-E Software that is copyright but given away by the ]
author. You cannot alter the application as you don’t
have the source code.

1.6 Unicode F. Storing your files, movies, music etc on a platform
like Google drive.

1.7 Product key G. Free software that allows you to anonymously surf
the Internet and pretend to be someone else.

1.8 Freeware L HThis is how radio, TV and cellular phones (WiFi
and Bluetooth etc ) communicate without cables.

1.9 SIM A software program used to locate and view web

pages. It processes the HTML code making up the
page and renders it on the screen.

1.10 Server J. Alow level programming language that is very fast
but is machine dependent.

KA powerful computer that is a node on a network - -
it provides various resources like network security,
hardware access, disk space, printer access etc

L. This protects your identity online by encrypting all

| your communications before deleting them later. |
-M:A unique code that will activate a legally purchased
software application.

-N. A powerful computer that is a node on a network
through which all web content passes. It also
improves web performance by caching web content
and plays a role in network security.

11 N 12 H 13 b 14 D 15 K

A N Jrf,_
16 (o 17 M 18 £ 19 K 110 /<

(10)
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. Section B Data Representation
Question 2

2.1) Count from the number 16 to the number 21 using binary lovoc 1 opoj

lopip  Joo ||l lojlop lO/1o) (3)
2.2) Count from the number 281 to the number 288 using hexadecimal | i ? i r’}
(1B e I E L= 12 o (4)
2.3) In binary, what is the biggest number that can be represented using 5 bits? 31 (1)
2.4) How many possible combinations can there be using 8 bits? 2 :ré (1)

2.5) Add the number 1011 1101 to 0011 1111
[Ol] ot
Dol I / /1

L 1V 1100 (4)

[13]
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Section C Theory
Question 3

For each of the questions below, you need to select the most correct answer from the options
provided. Use the answer grid at the bottom of each page to record your answers.

3.1) Which part of the CPU is responsible for all logical calculations?
a) ALU
b) CU
¢) The registers

3.2) Primary memory is
a) Volatile
b) Non-volatile

3.3) Secondary memory is made up of . ..
a) HDD
b) SSD
c) CD-ROM
d) DVD
e) External hard drive

f) Depending on the configuration of the computer, it could be made up of all the above
g) None of the above

3.4) The process by which data on one device is automatically updated so that it is matches the
data on another device; this way both devices have access to the newest version of the data.
a) Synchronization
b) Volatile
c) Non-volatile
d) Encryption
e) Backup

3.5) What can we expect to find on the ROM chip on a computer?
a) Firmware
b) Software that is stored semi permanently
¢) Permanent software which can, under certain conditions, be updated
d) Software that is lost when the power is turned off
e) Options a, b, c and d.
f) Options a, b and c.

g) Option a only.
| Question 3.1 3.2 3.3 34 3.5
|Answer A [= F [ F
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. 3.6) Which software license is the operating system Linux distributed under?
a) Proprietary

b) Free and open source - General public license (GNU)

c) Creative commons

d) Freeware

e) Freemium

3.7) A device driver
a) Is part of the operating system.
b) Is software that allows the operating system to communicate with a certain piece of
hardware e.g. a printer
c) Is part of the Windows operating system.
d) Is part of Office 365
e) Provides protection from malware

3.8) A virus can be best described as.. ..
a) Software that is illegally loaded onto a computer that causes damage to the system
b) Software that is illegally loaded onto a computer that transmits data via the internet to
the software author without the permission of the user.
c) Software that automatically displays or downloads adverts or services based on the
historical activities detected in the browser history.

3.9) Android
a) Is a popular type of mobile phone.
b) Is an operating system based on Linux; it is open source but developed by Google.
c) Is a device that has a touch screen
d) Is another name for a smart phone
e) Means compatible with phones and tablets.

3.10) Where would you expect to find an SD card
a) In a camera
b) In a phone
c) Ina drone
d) Any device that needs small secondary memory
e) Any device that needs small primary memory
f) Any device that needs small volatile memory

| Question 3.6 3.7 3.8 3.9 3.10

| Answer 2 [ = ] & P

(10)
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Section D Internet and www
Question 4

4.1) The difference between data and information.

The Scenario

I'have a business that sells international men’s and woman'’s fragrances online. I have two ranges
for each - budget and luxury.

A) I have a database of 1000 people that buy from my website every month. I have their names,
where they live, their gender, their date of birth, their marital status, and their profession.

B) By running several SQL queries, I discover that...

® women under the age of 30 spend more with me in the first 15 days after receiving their
salaries than other groupings. They favour the budget ranges.

2 By contrast I find that single men over the age of 45 spend more later in the month but
confine their purchases to the more luxury ranges.

Using the examples above (A and B) explaln W is an example of * data” and whlch is an

example of “information”. B — J 4/ il &A o 'L-_;A St et s e
oddes ro selel insighe Mot sctinmal i
B" ‘f n f"‘ s 4 : r\‘/./ . ?F { esr s [~ fffi :w'{ L <
Weelel ol ca be tplimetid—
“4)

4.2. Using the question 4.1 A and B, above what clever marketing strategy could I implement
on my online fragrance website to increase sales and profit?

C'L‘ﬁvv_@ e e wel<ite bhagnner Fro L o el
) s ur On 15 L o4 Cle mp-
Fe ] _ _
- 3)
4.3) What general term do we give to websites that sell online? :f/ Copmimerce(l1)

(an “online shop” is not the answer)
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. '4.4) Study the screenshot below and answer the questions that follow.

55 JAVA - Java Teacher | Computer X & Home - First National Bank - FI X (@ New Tab X
«~ = O Q https://www.fragrance.co.za/men/luxuryfltalian.html

@ Getting Started @ https;//www.fragrance.co.za/men/luxury/italianhtml — Visit

This time, searchwith:. & & L @ w % O

./4.1) What is the current URL I am about to visit?

Www.pfaar‘ancc/wu/zn«u/ /U\Xuf\f/léq i n (2)
4.4.2) As in your PAT in grade 12, thought/ planning ‘and structure are very important. Looking at
the complete URL above and considering the scenario, would you say that the URL demonstrates
“careful planning” or “a lack of planning”. Explain your answer.

ca/\—t—rga, ) '(3 /ﬁ An, (‘-:}v f[}‘ i.f Vs ;;’C’"{ Afe-/ 4(61‘:64/{ é’f’/{&/
SEred e Chat patiles he ﬁfoﬂ{uo{' fﬂﬂjﬁ (2)

4.4.3) Which protocol is being used to access this resource? ;’-J"r t ﬁf/? s (1)
«4.4) What does “www” stand for? L{) ey " sy A e lucl (1)
4.4.5) What is the domain name? _ 1/ b/ b/ . ﬂ red (ince -. Co-2a (1
4.4.6) In which country is the server that hosts the website? "j:.:_.ﬁ_ s /:)" ﬁ rF.ca (1

4,4.7) What is the path to the resource that I am interested in?

} & y B 1‘('. j A tart, / l' t_’f l l‘_ﬁ_r"" . A ‘IL s I (2)
( A » __
4.4.8) Which web browser is being used in the screen shot? =/ re X (1)
- T |

4.4.9) Identify (name) in order from left to right, the six avatars (little logos) after the words
“This time, search with:”

é\ ool B R L

f'-i {a ’,,/c :'_.’ (71 C/‘: '{.;‘ 2 'Il,v’l/ ‘{r ‘jﬂd ;<‘.'_; (3)

7/
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4.5) I want to see what my competitors are charging for a particular product, so I go to Google
Search to find out.

The product must be - perfume
The product must be - Versace
The product must be — Bright Crystal
The product must not be - mini (I do
not want to view the mini size)

What would I type into the Google search bar
to get the best results?

(Answer in the space below)

v e " _ ol W
o Sa /c_, '5';? er f:uﬁ- e +tVeicace + A /,‘.gA + C ryu<ta /
= mint” [Can tse AN poT) (4

4.6) Study the screen shot below and answer the question that follows

& Google X 4 [+] i H &

& C & google.coza/webhp?hizenBisa=XAived=0ahUKEWjj2KPSiZ30.. @ ¢ @ B © » O fg? H

A A omat mages 35z
Google

a |

8"

4.6.1) What is the difference between the area indicated by A and the area indicate by B? Explai.
fully. Note mark allocation.

{»

Google Search I'm Feeling Lucky

L—
r LI _"‘ / . »
j”f - MRL_ i,'dr'-;/.-lt_c ali-:-‘“ rcess £ A '.-01":'

D Vai-s € —
", L
L - C e o [ ‘ebred  Lae. 1) Lo e
6&@(0& ":/‘-r}_; pr't-/’

—

(4)
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4.7) Read the article (Addendum B] that defines “Instant Messaging”. Wouid you describe
WhatsApp as an Instant Messaging service? Explain your viewpoint in full.

> 7 I v | f ﬂ N -
éﬁ.) ot N 5 é A ["Te 8840 61 - /) p‘fﬁ":} o Vil Aot Car~

w A i i

A e ' l‘ ver NS D s s e < & G < /@i & (aJ L Ear

7
‘\';f"fbb\ /bj l'f\-L/
; v L"//’ A I
Lo AaAs /2},7 | S cocial e lla  a/lo., .- -
| s jfwﬁ, Xwd:o ; et G A voice (4)

56/!/’(\&53 ™™
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Section E Application. Assumption: We are using Ms Access

Question 5

5.1) I have a database for the clients that buy from my online fragrance shop. Carefully re-read
the scenario in question 4. Now design a one table database that would match the scenario. Use

the table below (you are creating a schema)- you do not have to use all the lines provided but do
note the mark allocation.

(i 6) Zmarks)

7

Name of your database: 7[
(64 tance 6 Siwlla_ .
Name of your table:
th| Frearance
Field Name Datatype | Description of the type of data the field holds.
-, / [ [ ) 'A R} #_ x
- D Gt nuenbd. AN ) he A el 1 e —
f\ rst [)awe bé € 4
il
J,J & < (- A)a e I{‘ @ 6
8
A »ﬁf‘;dfcss I Ee & 46 rei
R h’y’A(CSsZ. E'C-‘ff Cl&‘l e t?{,_rr\ v
é gen de, |Eext
- ! P
YA ok Aate
N o bk Eex€

i‘ ( "01L¢’- s5ipA t—C'Y &

5.2) Write out the SQ‘I}Mery to insert a new record into the database schema described above

TNSERT INTO LI @fa.:j ranc. (ﬁ:(f.cf N .ro

\ = ' /
lasename PAAL _WII2 dendes. Aol mad:itel
v /o, \ : . '
e ;Le?»ﬁ > l'h 7) 4~ \ V H/_ a{=< | 0 Lte ve l d / 4 ‘ I&r“ L Y A ;s {45}'
"o m ge R A\Z Coh (6
airm S a w o /o —
N M areto )" ) - 9, M H ol l/loqa:ﬁ:’

{ - [3
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. "5.3) In a database, describe the dlfference between a record and a field. ‘
Licl) - coakedopro 04 /( L,W.(/ \
’ v vy \

m < f‘J-"- A Iﬁnw lﬂ 4. f’d [AY é»v-k,__,_ frr'f ;V' ﬁw B -,'3"_.' 2 4 :".-\' # L'_\nl.
{

~F

a‘.-?‘{ Ae Jf';, L Lo L

_ (4)
e (B
5.4) In a database table what is the role of the primarykey? _ { @ 4n ' gjg [ w/ L
) ] . . -
| NAE Uy L a St ~ g [ record e —
(2)

5.5) Why is it better to use the datatype “text” when you want to store a moblle phone number?

f Ve 72t ce Nnet 4 04 rq o 0 Qrit A h\-a/{'
7
Wi‘f_’L /N phoene htuwnk e . Wc_ Aot

G K to [Cose. *the leal lrg 2crn @)

ol i Phore numbe,,
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F Networking

Question 6

;olumn A with column B. Do this by using the grid after this table. Write the letter from
finition column B next to the matching term in column A. There are more definitions.

Column A - T_erms

Column B - Definition

6.1 LAN

LATA computer on a network designed to be used as

the central controlling device that offers services and
resources to client computers.

6.2 server J | B A type of bounded media made up of pairs of
copper wires twisted together.
6.3 router C. A exists where a user transfers data and

synchronizes data between cell phone, laptop,
camera, printer, and wearable devices.

6.4 stand-alone computer

DA device connected to a network or even to the
Internet.

IHZ.S WAN E. The term we used when referring to a high-speed
cable, usually fibre optic, that connects LANs togethe.
6.6 node «"Local area network, usually in a single building or a

| few buildings that are close together. The nodes are

generally connected by bounded media.

6.7 client computer

G. Cable made from plastic or glass that can be used
to network computers together or even LANs
together.

6.8 firewall

H: A network that effectively spans a whole country.

6.9 switch

kA computer not connected to any other electronic

device.

6.10 UTP

|J<"A computer on a network that receives services or

can access resources provided by a central server.

KA system of software or hardware, or both, that
prevents unauthorized access to or from a private
network.

L Connects nodes to a network.

M. A dedicated computer whose only job is to receive
print jobs and if the permissions allow, send the print
job onto the printer.

LN An electronic device that joins computer networks

together using either wired or wireless connections.

6.1

6.2

/
6.4 P

F,
63 I
65 H

66 1

/
67 <

>

6.8 —

6.9 L—

Grade 10 IT Theory
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-6.11) Study the two diagrams in Addendum A. (Section F. Question 6 Networking. Diagram A
- and Diagram B)

The setup in Diagram A offers advantages and disadvantages. The same for Diagram B. Discuss in
detail the advantages and disadvantages of each setup with regard to the placement of the
server. In your answer try to include the following concepts...

Backups, scalability, cost (salaries, hardware and software), reliability, ownership, security, risk,
productivity, convenience /

Z. or = control Lok have capicd ce-e -
| Mo

éﬁﬁi I‘J' 4 ('dlé ‘J;.‘.'a /& . ‘I/QM {'9!)/}’\6/‘5’,;-.-. n‘!/?

v
mw~a v in temrnGg nee. ., Vs ;-‘ca{una(a,na

(lon) = less Cenkt /al/l oA [3& 1 er S= c;uL;."T-7
7
no 6 A .-.1 \ ;,_ & ’ L..—" "I‘ = 6 D / -_'('.-.." 3 P ; f"'ﬁg [
i > -
2 nbCnance. U; IJ- -Sc..,ﬂ/aé./v“’f/
Lowe (ptel sisk
(8)

6.12) A network application is designed to run on multiple computers that are connected via a
"‘Wetwork, often the Internet. Explain what is meant by a “client-server network.” Include in your
«nswer where the data is likely to be stored - locally or remotely.

,’r/‘ C/Q,\L cal, 2 ed Coi*\i' wle, Levves [e. SOurees
o (m‘mneﬁ‘c/(“c,/( cl; e s — cp L.:e.w
| , o & soliiiae a 7 () " Cot pn o
Ol b o€ “.J’La IJ > : f v O E Creilr (4

L:lcs rﬁ-'wbte'/y O~ & 'L:Iz e vive r
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6.13) Networking offers many advantages to an organization e.g. file sharing, collaboration,

+

printer sharing, centralization of data, and productivity to mention a few.

Sharing a file (or folder) is a common activity within an organization. You have a lot of control
how you share your file i.e. the rights and permissions that you grant the people that you share

the file with.

Make a study of Addendum A - (Section F. Question 6. Diagram C and Diagram D)

In both diagrams I am going to share the file called “ASCII table.docx” by sending them a link to
my file. The conditions under which I share the document are not the same however. Explain
where the sharing permissions are the same and where the sharing permissions are

different.

In these ways the sharing permissions are
the same

In these ways the sharing permissions are
different

Anﬂamc, wWho IS Se it &L
linle ca. Ele

L, le

64 e 3 nle €>‘()i re\7

A Ccess

C— Canr gk cAd e +
Canngt Aownloat —

D-Can ed | € and

Aate e can Aownload
N o ﬂa sSL£e r'al
2 marks 2 marks
[26]
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_-Section G Solution development
Question 7
Consider the code snippet in each case and then answer the question that follows directly

beneath it. In some cases, only part of the class is shown to save space - these “missing” lines are
never part of the question.

6 int a =5, b =10, ¢ = 15, 4 = 20;
7
8 cC = a + b;
9 C =C + b;
10 c = (c/d) +c;
11
12 System.out.println{(c + " " + 4d); V//’b/// L////
7.1) What is the output of line 12 above? 16 Lo (3)
6 int a = 5, b = 10, ¢ = 15, d = 20;
7
8 c =a + b;
9 c =c + b;
10 c=1(d/c)+c; h////.
11
12 System.out.println(c + " " + 4d); v///
7.2) What is the output of line 12 above? 295 2o (2)
6 int a = 5, b = 10, ¢ = 15, d = 20;
7 _
8 c = 2a + 3b; v//b///
9 System.out.println(c) ; y
7.3) What is the output of the code above? _ = ¥ ¥ ¢, (2)
6 double myRandom = 0.0;
7 myRandom = (int)Math.random() ;
4 /
9 System.out.println(myRandom) ;
7.4) Why will the output of line 9 above be? 2erQ (2)
6 int a = 5, b = 10, ¢ = 20;
7 int d = 0;
8 -
9 d=a+c % b;
10 / / v
11 System.out.println(d) ; é;’

7.5) What will the output of line 11 above be? (3)

Grade 10 IT Theory 15



6 int i, j;
7 for( i =0, j = 10; i < 5; i++, 3--) { };
8

9 System.out.println("Value of i is "™ + 1 + " Value of j is " + J);

7.6) Yes, the code cor‘ryes and runs. What will the output of line 9 above be? /

Va lu. Dt[" ‘I |5 5 1\/£'M-.‘ %L .j) 0‘5 { (4)

[16]

Grand total: 130 marks
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. ‘Additional Paper: Please label your answers clearly

Grade 10 IT Theory 17



Addendum A

Section A. Question 1

~

Z 3 ® |
U+3048 U+FF13 U+127F U+DE25
| ? £ =

U+2807 U+203D U+00A3 U+5C38
Section F. Question 6. Networking
Question 6.11)

Diagram A
s =
Router
Server
6 Port Switch
l - . ..rL
Peinter Computer Computer Computer Computer
Diagram B
Cloud
Router
Serent
6 Port Switch
[— [ = =
- -1 ——=
Printer Computer Computer Computer Computer
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..Addendum A continued

Section F. Question 6. Networking continued

Question 6.12)
Diagram C Diagram D
@ Share "ASC!I TABLE.docx" X b @ Share "ASCI| TABLE.docx* X
e
Link settings Link settings
ASCIl TABLE.docx ASCI! TABLE.docx

Who would you like this link to work for?
Learn more (%

Anyone with the link v
People in ADVTECH Ltd with the link

People with existing access

Specific people

Other settings
[:] Allow editing

A Open in review mode only ©
Expires Wednesday Nov 24 2021 ®
8 Set password

r N
© Block download - .J

LT | cance |

o~

Who would you like this link to work for?
Learn more (3

Anyone with the link v
People in ADVTECH Ltd with the fink

People with existing access
Specific people

Other settings
Allow editing

@)oo

Expires Wednesday Nov 24 2021 ©

o Open in review mode only

g Set password

© Block download ©

— B
Apply I_ __Canf:il B

Grade 10 IT Theory
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Addendum B

Instant Messaging

» Categorized under Communication,Technology | Difference Between Email And IM

IM is short forInstant Messaging. Instant Messaging enables online real time
communication between two users logged in simultaneously. Every time a user presses
enter the message gets broken up in packets and is immediately transmitted over the net.
These packets are received on the other ended, decoded and displayed on the recipients
screen.

IM requires the user to be logged into the internet server and use the same application like

the msn. gtalk, skype. etc. Secondly the users need to be online at the same time. With
people in different time zones this becomes very difficult.

IMs nowadays allow you to transfer unlimited data between the users and some IMs also
allow you engage in audio chats making the users talk just as they would over the telephone.
This service generally uses Voice Over Internet Protocol (VOIP).

Summary

1.IM is short for Instant Messaging and needs the users to be logged in to the same server.
Messages are delivered instantly.

2.IM requires the users to use the same client.

3.IM the messages are displayed on the recipient’s computer instantly.
difference-between-email-and-in._.

Souce: http://www.differencebetween.net/technolo
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